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Floma BTV e | B2 | ame | oo e | B | o [T e | B2 T | B | M
3 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~ - - -
Zhst 1.00)| 000 ~ 469 58.45 | #FnLst | 000 ~ 469 1.83 9.79 Zhst 1.00)5.00 ~ 5.00 5845 | #nLlst | 500 ~ 5.00) 1.83 9.79
4 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst 1.00) 000 ~ 651 8204 | #hist | 0oo ~ 651|202 10.82 Zhst 1.00)5.00 ~ 9.00 82.04 | #nist | 500 ~ 9.00| 202 10.82
5 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% %% - -~ - -|3mEHERS -~
Zhst 1.00) 000 ~ 657 8285 | #hpst | 0oo ~ 657|191 10.22 Zhst 1.00)5.00 ~ 830 82.85 | #nist | 500 ~ 830 1.91 10.22
P 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst 1.00) 0.00 ~ 649 81.73 | #nkst | 000 ~ 0.00)| 1.66 8.86 Zhst 1.00)5.00 ~ 790 81.73 | #nhist | 500 ~ 7.90 | 1.66 8.86
- 100kN/m%#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst 1.00) 0.00 ~ 649 81.76 | #nist | 000 ~ 0.00)| 1.66 8.86 Zhst 1.00)5.00 ~ 790 81.76 | #nhist | 500 ~ 7.90 | 1.66 8.86
g 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~ - - -
Zhst - -~ - -| #hilst -~ - - - Zhst - -~ - -| #hilst -~
9 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% %% - -~ - -|3mEHERS -~
Zhst - -~ - -| #hilst -~ - - - Zhst - -~ - -| #hilst -~
0 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst 1.00) 000 ~ 495 61.72 | #hist | 000 ~ 0.00)| 1.66 889 Zhst 100|500 ~ 530 61.72 | #nhist | 500 ~ 530 | 1.66 889
11 100kN/m%#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst 1.00)| 000 ~ 495 61.72 | #hist | 000 ~ 0.00)| 1.66 889 Zhst 100|500 ~ 530 61.72 | #hidst | 500 ~ 530 | 1.66 889
12 100kN/mM%#BZ2% | 1.00| 000 ~ 128| 119.58 |3m%Ei#Bz% -~ - - -| 100kN/m# 25 | 1.00 | 1055 ~ 14.73| 119.38 |3m&EHEZD -~
Zhst 100|128 ~ 906 100.00| Thilst | 000 ~ 906|216 11.54 Zhst 1.00) 500 ~ 1055 100.00| Thist |500 ~ 1473|216 11.54
13 100kN/mZ#82 % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst 1.00 )| 000 ~ 7.04 89.36 | #hust | 0oo ~ 704|178 951 Zhst 1.00)5.00 ~ 880 89.536 | #nhist | 500 ~ 880|178 951
14 100kN/m%#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~ - - -
Zhst 1.00) 000 ~ 475 5921 | #nbist 000 ~ 000|167 8.96 Zhst 1.00 500 ~ 5.00 5921 | #nLlst 500 ~ 500|167 8.96
100kN/mZ#8% % ~ ImEBZD ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst ~ Zhst ~ Zhllst ~
100kN/m%#82 % ~ ImEBZ D ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst ~ Zhst ~ Zhllst ~
100kN/mZ#82 % ~ ImEEZ S ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zh s ~ Znist ~ Zh s ~ Zhn st ~
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